Student ID

1. Exam duration: 50 minutes.

2. Closed book, and no collaboration. No

write down your assumptions.

Student Name

CMPUT 291
File and Data Management
Midterm Exam
17 February 2000

3. All questions need to be answered.

4. Marked exam will be available on 29" of Febru

is 14™ March 2000 at 3PM.
S. Answer all questions on this sheet.

Question 1(20 pts; each 4 pbints) Given the following database,
would get by executing the querie

indicate
s below. Show the results as tables.

Total Mark

questions during the exam; if you are unsure,

ary (in class). Closing date for appeals

Sailors Reserves
SID SNAME | RATING| AGE SID BID DAY
22 Dustin 7 45.0 22 101 10/10/98
29 Brutus 1 33.0 22 102 10/10/98
31 Lubber 8 55.5 22 103 10/8/98
32 Andy 8 25.5 22 104 10/7/98
58 Rusty 10 35.0 31 102 11/10/98
64 Horatio 9 40.0 31 103 11/6/98
71 Zorba 10 16.0 31 104 11/12/98
74 Horatio 9 40.0 64 101 9/5/98
85 Art 3 25.5 64 102 9/8/98
95 Bob 3 63.5 74 103 9/8/98
Boats

BID | BNAME COLOR

101 Interlake Blue

102 Interlake Red

103 Clipper Green

104 Marine Red

B2 Tamer Ozsq

the results that you
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(a)

(b)

(c)

SELECT
FROM
WHERE

SELECT
FROM
WHERE
AND
AND

SELECT
FROM
WHERE

*

Sailors
Rating > 7

B.Color

Sailors S, Reserves R, Boats B
S.SID = R.SID

R.BID = B.BID

S.SNAME = ‘Lubber’
S.SNAME

Sailors s

S.SID IN

(SELECT R.SID

FROM Reserves R
WHERE R.BID = 103)




(d) SELECT RATING, MIN (AGE)
FROM Sailors
WHERE AGE >= 18
GROUP BRY RATING
HAVING COUNT (*) > 1

(e) SELECT S . SNAME
FROM Sailors s
WHERE S.AGE >

(SELECT MAX(SZ.AGE)
FROM Sailors S2
WHERE S2.RATING = 10)

(@) Cana pharmaceutical company have multiple phone numbers? If yes, then explain why.
If not, what do you need to do to allow thig? (2 pts)




SOLVE THIS PART ON THE MODEL, GIVEN ON THE NEXT PAGE.

[




Figure for Question 2,




Question 3 (32 pts; each 4 points; NO PARTIAL MARKS) Consider the following
database scheme for a motorcycle database where the underlined attributes constitute the
primary keys of each relation.

Manufacturer(m, Address, Revenue)
Model(ModeINo, EngineSize, Transmission, Type, Price, Manufacturer)
Dealer(DealerId, Name, Owner, CycleCompany, Address)
Sales(&ealer,ModelNo,Buver,Price, Date)

Customer( Customerld, Name, Address)

relation.

(c) Dealer relation holds information about dealers, Owner is the hame of the owner.,
Note that CycleCompany is a foreign key pointing to Manufacturer relation,

(d) Sales relation holds information about individua] sales for a gjven year (i.e., the
relation is Wwiped out at the end of each year). The Date attribute holds the sales date
within the current year. The price here is the final saleg price and may be different
than the Price in the Model relation (Which represents manufacturer’s suggested retaj]
price). Dealer attribute is a foreign key pointing to the Dealer relation, Buyer attribute
is a foreign key pointing to the Customer relation, and ModelNo is a foreign key with
the obvious semantics.

Formulate the following queries in SQL:

(@) Retrieve the nhames of manufacturers who have motorcycles with 800cc engines.




(c) List the motorcycle models whose price is greater than the price of all the models of
Cruiser type.




(¢) Find the names of manufacturers who have 50 or more dealers.

(f) Find the names of dealers who have made no sales.




, the dealer name, the total number of uni
and the total income that the dealer has secured.

Question 4 (25 p

ts) Consider the following ER model. Convert it to a relational model.
Show your steps.

: ».A.d&mv Tel | ‘_'Yﬁ‘*'f"f"

Produce

Salf :

| Fiction k&an‘imﬁo‘n;

Figure for Question 4




